THE PERSON TO BE CONTACTED REGARDING THE PROPOSED RULE IS: Kal Knickerbocker, Department of Agriculture and Consumer Services, Division of Aquaculture, 1203 Governor's Square Boulevard, 5th Floor, Tallahassee, Florida 32301, Phone: (850)488-4033

# BOARD OF TRUSTEES OF THE INTERNAL IMPROVEMENT TRUST FUND

Notices for the Board of Trustees of the Internal Improvement Trust Fund between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

# AGENCY FOR HEALTH CARE ADMINISTRATION

# **Health Facility and Agency Licensing**

•	9 1
RULE NOS.:	RULE TITLES:
59A-4.200	Definitions
59A-4.201	Gold Seal Award
59A-4.202	Quality of Care
59A-4.204	Turnover Ratio
59A-4.205	The State Long Term Care
	Ombudsman Council Review
59A-4.206	Termination and Frequency of
	Review

#### NOTICE OF CORRECTION

Notice is hereby given that the following correction has been made to the proposed rule in Vol. 33, No. 5, February 2, 2007 issue of the Florida Administrative Weekly.

In replace of the hearing being held on March 28, 2006 a hearing will instead be held on March 13, 2007 at 10:00 a.m., if requested in writing with 21 days from the date of this notice at: Agency for Health Care Administration, 2727 Mahan Drive, Bldg 3, Conference C, Tallahassee, Florida 32308.

THE PERSON TO BE CONTACTED REGARDING THIS CORRECTION IS: Barbara Dombrowski, Bureau of Long Term Care Services, 2727 Mahan Drive, MS51, Tallahassee, FL 32308, (850)414-9707

# DEPARTMENT OF ENVIRONMENTAL PROTECTION

Notices for the Department of Environmental Protection between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

# Section IV Emergency Rules

# BOARD OF TRUSTEES OF THE INTERNAL IMPROVEMENT TRUST FUND

Notices for the Board of Trustees of the Internal Improvement Trust Fund between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

#### DEPARTMENT OF THE LOTTERY

RULE NO.: RULE TITLE:

53ER07-5 Instant Game Number 667, BIG

**MONEY** 

SUMMARY OF THE RULE: This emergency rule describes Instant Game Number 667, "BIG MONEY," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning, value and number of prizes in the game.

THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst, Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

### THE FULL TEXT OF THE EMERGENCY RULE IS:

53ER07-5 Instant Game Number 667, BIG MONEY.

- (1) Name of Game. Instant Game Number 667, "BIG MONEY."
- (2) Price. BIG MONEY lottery tickets sell for \$5.00 per ticket.
- (3) BIG MONEY lottery tickets shall have a series of numbers in machine readable code (or bar code) on the back of the ticket, along with a validation number under the latex area on the ticket. To be a valid winning BIG MONEY lottery ticket, the ticket must meet the applicable requirements of Rule 53ER06-4, F.A.C.
- (4) The "YOUR NUMBERS" play symbols and play symbol captions are as follows:

	2	3	4	5	6	7	8	9	10
	THO	THREE	FOUR	FIVE	SIX	SEVEN	EIGHT	NINE	TEN
	12	13	14	15	16	17	18	19	20
N	THELV	THRTN	FORTN	FIFTN	SIXTN	SVNTN	EGHTN	NINTN	THENTY
	22	23	24	25	26	27	28	29	
ΙE	DMTYMT	THYTHR	TWYFOR	TWYFIV	TWYSIX	TWYSVN	THYEGT	THYNIN	

BIG

(5) The "WINNING NUMBERS" play symbols and play symbol captions are as follows:

1	2	3	4	5	6	7	8	9	10
ONE	THO	THREE	FOUR	FIVE	SIX	SEVEN	EIGHT	NINE	TEN
11	12	13	14	15	16	17	18	19	20
ELEVN	THELV	THRTN	FORTN	FIFTN	SIXTN	SVNTN	EGHTN	NINTN	THENTY
21	22	23	24	25	26	27	28	29	
THYONE	THYTHO	THYTHR	TWYFOR	TWYFIV	THYSIX	THYSUN	THYEGT	THYNIN	

(6) The prize symbols and prize symbol captions are as follows:

\$1.00	\$2.00	\$4.00	\$5.00	\$10.00
ONE	THO	FOUR	FIVE	TEN
\$15.00	\$25.00	\$50.00	\$75.00	\$100
FIFTEEN	TWY FIV	FIFTY	SVY FIV	ONE HUN
\$200	\$500	\$1,000	\$10,000	\$75,000
THO HUN	FIV HUN	ONE THO	TEN THO	SVY FIVE THO

# (7) The legends are as follows:

# WINNING NUMBERS YOUR NUMBERS

## (8) Determination of Prizewinners.

- (a) A ticket having a number in the "YOUR NUMBERS" play area that matches any number in the "WINNING NUMBERS" play area shall entitle the claimant to the corresponding prize shown for that number.
- (b) The prize amounts are: \$1.00, \$2.00, \$4.00, \$5.00, \$10.00, \$15.00, \$25.00, \$50.00, \$75.00, \$100, \$200, \$500, \$1,000, \$10,000 and \$75,000.

- (c) A ticket having a " " symbol in the "YOUR NUMBERS" play area shall entitle the claimant to a prize of \$50.
- (9) The estimated odds of winning, value, and number of prizes in Instant Game Number 667 are as follows:

-			NUMBER OF WINNERS IN 42 POOLS OF
		ODDS OF	120,000 TICKETS
GAME PLAY	WIN	1 IN	PER POOL
\$1 x 5	\$5	30.00	168,000
(\$1 x 3) + \$2	<u>\$5</u>	30.00	168,000
$\$1 + (\$2 \times 2)$	<u>\$5</u>	30.00	168,000
<u>\$5</u>	<u>\$5</u>	30.00	168,000
<u>\$1 x 10</u>	<u>\$10</u>	60.00	84,000
<u>\$2 + (\$4 x 2)</u>	<u>\$10</u>	60.00	84,000
$(\$1 \times 4) + (\$2 \times 3)$	<u>\$10</u>	60.00	84,000
$\$1 + (\$2 \times 2) + \$5$	<u>\$10</u>	120.00	42,000
<u>\$10</u>	<u>\$10</u>	120.00	<u>42,000</u>
<u>\$1 x 15</u>	<u>\$15</u>	60.00	<u>84,000</u>
<u>\$15</u>	<u>\$15</u>	60.00	<u>84,000</u>
\$5 x 5	<u>\$25</u>	300.00	<u>16,800</u>
$(\$5 \times 3) + \$10$	<u>\$25</u>	400.00	12,600
\$5 + (\$10 x 2)	<u>\$25</u>	300.00	<u>16,800</u>
$(\$2 \times 5) + \$5 + \$10$	<u>\$25</u>	300.00	<u>16,800</u>
$(\$1 \times 5) + (\$2 \times 10)$	<u>\$25</u>	400.00	12,600
<u>\$25</u>	<u>\$25</u>	600.00	8,400
\$50 (BIG)	<u>\$50</u>	<u>97.56</u>	<u>51,660</u>
\$5 x 15	<u>\$75</u>	24,000.00	210
$\$5 + (\$10 \times 7)$	<u>\$75</u>	24,000.00	<u>210</u>
$(\$5 \times 5) + \$50$	<u>\$75</u>	24,000.00	210
$(\$10 \times 5) + \$25$	<u>\$75</u>	<u>24,000.00</u>	<u>210</u>
<u>\$75</u>	<u>\$75</u>	24,000.00	<u>210</u>
\$10 + (\$15 x 6)	<u>\$100</u>	<u>2,400.00</u>	<u>2,100</u>
$(\$5 \times 10) + (\$10 \times 5)$	<u>\$100</u>	600.00	<u>8,400</u>
\$25 x 4	<u>\$100</u>	1,200.00	<u>4,200</u>
$(\$25 \times 2) + \$50$	<u>\$100</u>	1,000.00	<u>5,040</u>
<u>\$100</u>	<u>\$100</u>	<u>857.14</u>	<u>5,880</u>
\$50 x 10	<u>\$500</u>	42,000.00	<u>120</u>
$(\$25 \times 10) + (\$50 \times 5)$	<u>\$500</u>	36,000.00	<u>140</u>
<u>\$500</u>	<u>\$500</u>	42,000.00	<u>120</u>
\$100 x 10	\$1,000	<u>252,000.00</u>	<u>20</u>
\$200 x 5	\$1,000	<u>252,000.00</u>	<u>20</u>
$(\$50 \times 10) + (\$100 \times 5)$	\$1,000	<u>252,000.00</u>	<u>20</u>
\$500 x 2	\$1,000	<u>252,000.00</u>	<u>20</u>
<u>\$1,000</u>	\$1,000	<u>252,000.00</u>	<u>20</u>
\$1,000 x 10	\$10,000	2,520,000.00	<u>2</u>
(\$500 x 10) + (\$1,000 x 5)	\$10,000	2,520,000.00	2
<u>\$10,000</u>	\$10,000	<u>2,520,000.00</u>	<u>2</u>
<u>\$75,000</u>	\$75,000	2,520,000.00	<u>2</u>

- (10) The estimated overall odds of winning some prize in Instant Game Number 667 are 1 in 3.76. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.
- (11) For reorders of Instant Game Number 667, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.
- (12) By purchasing a BIG MONEY lottery ticket the player agrees to comply with and abide by all prize payment rules of the Florida Lottery.
- (13) Payment of prizes for BIG MONEY lottery tickets shall be made in accordance with rules of the Florida Lottery governing payment of prizes. A copy of the current rule can be obtained from the Florida Lottery, Office of the General Counsel, 250 Marriott Drive, Tallahassee, Florida 32399-4011.

Specific Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS. Law Implemented 24.105(9)(a), (b), (c), 24.115(1) FS. History-New 2-2-07.

THIS **EMERGENCY** RULE TAKES **FFFFCT** IMMEDIATELY UPON BEING FILED WITH THE DEPARTMENT OF STATE.

EFFECTIVE DATE: February 2, 2007

#### DEPARTMENT OF THE LOTTERY

RULE TITLE: RULE NO.:

53ER07-6 Instant Game Number 679, 7-11-21 SUMMARY OF THE RULE: This emergency rule describes Instant Game Number 679, "7-11-21," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning, value, and number of prizes in the game.

THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst, Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

#### THE FULL TEXT OF THE EMERGENCY RULE IS:

53ER07-6 Instant Game Number 679, 7-11-21.

- (1) Name of Game. Instant Game Number 679, "7-11-21."
- (2) Price. 7-11-21 lottery tickets sell for \$1.00 per ticket.
- (3) 7-11-21 lottery tickets shall have a series of numbers in Machine Readable Code (or bar code) on the back of the ticket, along with a Void If Removed Number under the latex area on

the ticket. To be a valid winning 7-11-21 lottery ticket, the ticket must meet the applicable requirements of Rule 53ER06-4, F.A.C.

(4) The play symbols and play symbol captions are as follows:

1	2	3	4	5
ONE	TWO	THR	FOR	FIV
6	8	9	10	12
SIX	EGT	NIN	TEN	THELV

(5) The prize symbols and prize symbol captions are as follows:

TICKET	\$1.00	\$2.00	\$5.00	\$10.00	\$20.00
TICKET	ONE	TWO	FIVE	TEN	THENTY
\$25.00	\$50.00	\$100	\$250	\$500	\$2,100
THY FIV	FIFTY	ONE HUN	TWOFTY	FIVE HUN	THYONE HUN

(6) The legends are as follows:

HAND 1 HAND 2 HAND 3 HAND 4 HAND 5

## (7) Determination of Prizewinners.

There are five hands on each 7-11-21 lottery ticket. A ticket having three numbers within a hand, the total of which is 7, 11, or 21, shall entitle the claimant to the corresponding prize shown for that hand. The prizes are: TICKET, \$1.00, \$2.00, \$5.00, \$10.00, \$20.00, \$25.00, \$50.00, \$100, \$250, \$500 and \$2,100. A claimant who is entitled to a prize of a "TICKET" shall be entitled to a prize of a \$1.00 instant ticket, except as follows. A person who submits by mail a 7-11-21 lottery ticket which entitles the claimant to a prize of a \$1.00 instant ticket and whose mailing address is outside the state of Florida will receive a check for \$1.00 in lieu of an actual ticket. address is outside the state of Florida will receive a check for \$1.00 in lieu of an actual ticket.

(8) The estimated odds of winning, value and number of prizes in Instant Game Number 679 are as follows:

			NUMBER OF WINNERS IN 56 POOLS OF
		ODDS OF	180,000 TICKETS
GAME PLAY:	WIN:	<u>1 IN:</u>	PER POOL:
TICKET	\$1 TICKET	10.00	1,008,000
<u>\$1</u>	<u>\$1</u>	12.00	840,000
<u>\$2</u>	<u>\$2</u>	30.00	336,000
<u>\$1 x 5</u>	<u>\$5</u>	<u>50.00</u>	201,600
<u>\$5 x 2</u>	<u>\$10</u>	150.00	<u>67,200</u>
<u>\$5 x 3</u>	<u>\$15</u>	300.00	33,600
<u>\$25</u>	<u>\$25</u>	300.00	33,600
<u>\$10 x 5</u>	<u>\$50</u>	3,600.00	<u>2,800</u>
$(\$5 \times 2) + (\$20 \times 2)$	<u>\$50</u>	3,600.00	<u>2,800</u>
<u>\$50</u>	<u>\$50</u>	3,600.00	<u>2,800</u>
\$20 x 5	\$100	15,000.00	<u>672</u>
\$50 x 2	<u>\$100</u>	15,000.00	<u>672</u>
<u>\$100</u>	<u>\$100</u>	15,000.00	<u>672</u>
\$100 x 5	<u>\$500</u>	180,000.00	<u>56</u>
<u>\$250 x 2</u>	\$500	180,000.00	<u>56</u>
<u>\$500</u>	<u>\$500</u>	180,000.00	<u>56</u>
<u>\$2,100</u>	\$2,100	840,000.00	<u>12</u>

(9) The estimated overall odds of winning some prize in Instant Game Number 679 are 1 in 3.98. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.

(10) For reorders of Instant Game Number 679, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.

(11) By purchasing a 7-11-21 lottery ticket the player agrees to comply with and abide by all prize payment rules of the Florida Lottery.

(12) Payment of prizes for 7-11-21 lottery tickets shall be made in accordance with rules of the Florida Lottery governing payment of prizes. A copy of the current rule can be obtained from the Florida Lottery, Office of the General Counsel, 250 Marriott Drive, Tallahassee, Florida 32399-4011.

Specific Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS. Law Implemented 24.105(9)(a), (b), (c), 24.115(1) FS. History-New 2-2-07.

THIS **EMERGENCY RULE TAKES EFFECT** IMMEDIATELY UPON BEING FILED WITH THE DEPARTMENT OF STATE.

EFFECTIVE DATE: February 2, 2007

#### DEPARTMENT OF ENVIRONMENTAL PROTECTION

Notices for the Department of Environmental Protection between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

# Section V Petitions and Dispositions Regarding Rule Variance or Waiver

# BOARD OF TRUSTEES OF THE INTERNAL IMPROVEMENT TRUST FUND

Notices for the Board of Trustees of the Internal Improvement Trust Fund between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

#### WATER MANAGEMENT DISTRICTS

NOTICE IS HEREBY GIVEN that on January 16, 2007, the South Florida Water Management District (District), received a petition for waiver from Eduardo Valdez, Artemisa Fence, Application No. 07-0110-2, for utilization of Works or Lands of the District known as C-100A Canal, Miami-Dade County, for placement of proposed fence located 15' from top of bank along the west right of way of C-100A Canal; Section 23, Township 55 South, Range 40 East. The Petition seeks relief from subsection 40E-6.011(4), Florida Administrative Code, which governs the placement of permanent and/or semi-permanent above-ground encroachments within 40 feet from top of bank within Works or Lands of the District.

A copy of the Petition for Variance or Waiver may be obtained by contacting Kathie Ruff at (561)682-6320 or e-mail at kruff@sfwmd.gov. The District will accept comments concerning the petition for 14 days from the date of publication of this notice. To be considered, comments must be received by end of business on the 14th day at the South Florida Water Management District, 3301 Gun Club Road, MSC 1413, West Palm Beach, FL 33406, Attn: Kathie Ruff, Office of Counsel.